Starry-Eyed Stan Addition and Subtraction

Starry-Eyed Stan e 2 fish were swimming in the cave.

5 more fish swam in.

How many fish were in the cave now?
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a 6 eels were watching Stan sing. ° 9 starfish were at a sea party.

4 more eels joined the audience. 4 starfish went home.

How many eels were there altogether? How many starfish were left at the party?
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o Lancelot caught 10 fish. ° There were 20 oysters in their shells.
5 of the fish escaped. 7 shells opened up.

How many fish did Lancelot still have? How many oyster shells were still closed?




